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English
(Reading)

Q1. Read the following passage carefully and answer questions that follow:

1. Living on the earth is rather like being at the bottom of a sea hundreds of miles deep. Without the
atmosphere, there would be no people or animals, birds or fishes, trees or plants. There would be no weather, winds
or rain. And there would be no blue sky, no rosy sunsets or dawns. Fire would be impossible without air, for
burning is the union of oxygen with whatever is burned. Nor would there be any noise, which is the vibration of
air-waves against our eardrums.
2. By day, the atmosphere serves as a great sun-shade. It protects the earth from the full force of the sun by
absorbing most of its harmful radiation'. But for the atmosphere, the daytime temperature would rise
to 230 degrees F hotter than the boiling water. By night, the air acts like a giant greenhouse. It
imprisons the heat collected during the day, and prevents it from spreading into space. Otherwise, the
temperature at night would plunge to -300 degrees F: far colder than we could stand.
3. Finally, the atmosphere catches and burns up by friction", practically all the million meteors that fall each
day from outer space into the earth's field of gravity. If all these meteors actually landed here, the earth's
surface would be pitted and dented like the face of the moon, which has no atmosphere to stop them.
4. Tt is not true that the air gets gradually colder the higher up you go. It does this up to a height of about 10 kilometres,
for the lower layers of the atmosphere are warmed by heat radiated from the ground. In the
stratosphere" -the next layer up- the temperature remains almost the same, but it drops to a chilly-
40 degrees F at about 30 kilometres. There the temperature begins to rise because of certain gases that
absorb heat directly from the sun. When these gases disappear, at about eighty kilometers, the temperature
drops right to-117 degrees F. After that it rises steadily, reaching 4.118 degrees F at about 400 kilometers.
Answer each question briefly :
. What has the water in the sea been compared with?
. What is it that helps the fire to burn?
. How does air protect us from the full force of the sun?
. How is the earth saved from becoming extremely cold at night?
. How are we saved from millions of meteors that keep falling to the earth each day?
. What is it that warms the lower layers of our atmosphere?
. Why does the temperature begin to rise after 30 kilometres above the earth?
. What would have happened if there were no air?
. Which word in paragraph no. 3 means the same as 'rubbing'?
Section B( Writing & Grammar).
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Q2. You are Aman / Asmi of 17E, Ravi Dass Road, New Delhi, write a letter in 100-120 words to the Editor of a news paper

about the nuisance caused by loudspeakers in the city during examination days, drawing attention to the concerned authorities
to the problem.

Q3. "A man's manners are a mirror shows his portrait. Develop a paragraph on "Good manners' highlighting the importance
of Good manners under this quote.

Q4. Complete the following sentences using correct. option in each.

i1 (read) a novel when my friend came.

a)read b)isreading c)wasreading d)had read
ii. Look ! Smoke (come) out of that windows.

a) is coming b) comes c) has come d) came
iii. A rich man buy anything he likes.

a) must b) can ¢) will d) should
iv. God bless you with a son!

a) may b) Will ¢) Can d) Should

v. He said to me, “ How are you?”
a) He told me that How I was .
b) He asked me how I was.
c¢) He asked me how was 1.

d)HE asked to me How I was.
vi. Silver, as well as cotton fallen in price.
a) has b) have ¢) had d) were

Section -C(Literature)



Q4. Read the extract given below and answer the questions that follow:

He should be lurking in shadow.
sliding through long grass. 444
Near the water hole

where plump deer pass.

(1) who does He in the stanza refer to ?
(i1) Wwhy would he be lurking in shadow?
(ii1) What does he hope to find there?

QS. Answer the following questions in about 30-40 words
i What twin obligations does mandela mention?

ii. What does the poet say the boy is learning from loss of ball?

iii. Does Anil realize that he has been robbed?
Q6. Answer the following questions in about 100 words:
(1) Give a brief sketch of Anne’s life.

Mathematics
Section-1(Very short answer type questions)
Q.1 Find the value(s) of K for which 3x " 2 + kx + 3 = 0 has real & equal roots.
(a) 4 (b)-5 ()6 (d) +6

Q.2 Give two different examples of pair of similar figures
Q.3 Find the distance between (2,3) and (4,1) .
Q.4 Find the value of 9sec?0 -9tan?0).
Q.5 If 6=45°,find the value of (secOcotfB-cosecOtand).
Q.6 All circles are ........... (congruent,similar)
Q.7 Write quadratic formula.
Q.9 How sum of zeros and products of zeros of a quadratic polynomial ax>tbx+c are related?
Q.10 Find the number of zeros of y=p(x)

Section-2 (Short answer type questions)
Q.11 Express 3825 as a product of its prime factors.

Q.12 Prove that '\2 is irrational
Q.13 Find a quadratic polynomial having sum of zeros -4 and product of zeros .
Q.14 Determine the AP whose 3rd term is 5 and the 7th term is 9.
Section-3 (Long answer type questions)
Q.15 State and prove basic proportionality theorem.

Q.16 ABCD is a trapezium in which AB || DC and its diagonals intersect each other at the point O.Show that A0/BO = C0O/DO .
Q.17 Find the area of the triangle formed by joining the mid -points of the sides of the triangle whose vertices are (0,-1),(2,1) and

(0,3).Find the ratio of this area to the area of the given triangle.

Q.18.A 1.2 m tall girl spots a balloon moving with the wind in a horizontal line at a height of 88.2 m from the ground. The angle of
elevation of the balloon from the eyes of the girl at any instant is 60. After some time, the angle of elevation reduces to 30° (see Fig)

Find the distance travelled by the balloon during the interval.

Section 4(Case Study)

Q.19 One evening, Kaushik was in a park. Children were playing cricket. Birds were singing on a

nearby tree of height 80m. He observed a bird on the tree at an angle of elevation of 45°.
When a sixer was hit, a ball flew through the tree frightening the bird to fly away. In 2
seconds, he observed the bird flying at the same height at an angle of elevation of 30° and
the ball flying towards him at the same height at an angle of elevation of 60.
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(i) At what distance from the foot of the tree was he observing the bird sitting on the tree?
(i) How far did the bird fly in the mentioned time?
(or)
After hitting the tree, how far did the ball travel in the sky when Kaushik saw the ball?
(iii) What is the speed of the bird in m/min if it had flown 20(\3 + 1) m?
Science
Section A (Very short answer type questions)
Q.1 Why should chemical equations be balanced?
Q.2 Why do acids not show acidic behaviour in the absence of water?
Q.3 State two ways to prevent the rusting of iron.
Q.4 Define the principal focus of a concave mirror.
Q.5 Define a food chain.
Q.6 What are indicators?
Section B (Short answer type questions)
Q.1 Why is respiration considered an exothermic reaction? Explain.
Q.2 What is a neutralisation reaction? Give two examples.
Q.3 What are amphoteric oxides?Give two examples of amphoteric oxides.
Q.4 How does phototropism occur in plants?
Q. 5 Find the focal length of a lens of power -2D.
Q. 6 What is magnification? Write it's formula and value for nature of images formed.

Section C (Long answer type questions)

Q.1 Define oxidation And reduction with examples.

Q.2 Give two important uses of washing Soda and baking soda.

Q.3 Draw the Structure of a neuron and explain its function.

Q.4 write uses of Concave and Convex mirror.

Q.5 Why is damage to ozone layer a cause for concern? What steps are being taken to limit this damage?

Q.6 Why are decomposition reactions called the opposite of combination reactions? Write equations for these reactions.

Section D (very long answer type questions)

Q.1 which gas is usually liberated when an acid reacts with a metal ? Illustrate with an example.
How will you test for the presence of this gas?

Q.2 Explain image formation

by ray diagrams in case of a convex lens.

Q.3 Differentiate between metal and non-metal on the basis of their chemical properties.

Q.4 write the uses of sodium hydroxide, bleaching powder and plaster of Paris.

Q.5Write the balanced chemical equation for the following and identify the type of reaction

in each case.

(a)Potassium bromide (aq) + Barium iodide (aq) — Potassium iodide (aq) + Barium bromide(s)
(b) Zinc carbonate (s) — Zinc oxide (s) + Carbon dioxide (g)

(c) Hydrogen (g) + Chlorine (g) — Hydrogen chloride (g)

(d) Magnesium (s) + Hydrochloric acid (aq) — Magnesium chloride (aq) + Hydrogen (g)

Computer Application

1. In web services, the communication takes place between

a) Two electronic device b) Two human being ¢) Two spider d) None of the above
2. Which of the following is not a legal domain in context of web address?

a) edu b) com

b) tv d) work
3. The< > tag displays text in subscript form.

a) sub b) sup c¢)sups d)subs
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SECTION B
Define the terms:
(i) e- learning (i1) e- shopping
(iii) e- group (iv) e- reservation

‘What are logical and physical text style?

Consider the following HTML statement:
<body bgcolor = “Blue” alink= “red” vlink= yellow>
In the above statement, what do you mean by ‘alink’ and ‘vlink’ ?
SECTION C

What is the difference between e-mail and vedio conferencing?

What are rowspan and colspan attributes used? Explain with examples.

Write the three differences between mail and chat.

Write the three differences between SMTP and POP3.

Write the three differences between SMS and MMS.

Write the three differences between 3G and 4G.

Which software is termed as open source software? name any two such software.
Define licensed software and write the name of any two license software?

How do intellectual property right provide protection to digital work?Write any two ways to avoid plagiarism.
How can we reduce digital divide give any two points
What are the guides that one should follow in order to avoid plagiarism?

Assignment: Asexual Reproduction in Plants
Subject:- Science ( Biology and Chemistry)

INSTRUCTIONS:- Complete all questions.
Write neatly and clearly.
Submit by the due date

Section A: Multiple Choice Questions (MCQs)
Each question carries 1 mark.

Q1. Which of the following is not a method of asexual reproduction in plants?
a) Fragmentation

b) Budding

c) Seed formation

d) Spore formation

Q2. Vegetative propagation refers to:
a) Reproduction through seeds
b) Growth from a part of the plant

c) Spore

formation

d) Fusion of gametes

Q3. Bryophyllum reproduces through:

a) Roots

b) Stem cuttings
c) Leaves
d) Flowers

Q4. Asexual reproduction results in:
a) Genetic variation

b) Offspring identical to parents

c) Formation of zygote



d) Cross-pollination

Q5. Which of the following is an example of artificial vegetative propagation?
a) Grafting

b) Spore formation

c¢) Budding

d) Binary fission

Q6. In spore formation, the structure that produces spores is called:
a) Sporangium

b) Anther

c) Pollen

d) Ovary

Q7. The process in which a single parent gives rise to new individuals is known as:
a) Sexual reproduction

b) Asexual reproduction

c) Fertilization

d) Pollination

Q8. Which plant reproduces asexually through runners?
a) Rose

b) Mint

c¢) Onion

d) Potato

Q9. The small bulb-like projections involved in budding are called:
a) Spores

b) Buds

c) Tubers

d) Corms

Q10. The main advantage of vegetative propagation is:
a) Genetic diversity

b) Large number of seeds

c¢) Short time for reproduction

d) Increased variation in plants

Q11. Which method of reproduction is found in yeast?
a) Budding

b) Fragmentation

c¢) Spore formation

d) Binary fission

Q12. The potato tuber reproduces by:
a) Seeds

b) Stem

c) Leaves

d) Buds

Q13. Which of the following methods does not involve sexual reproduction?
a) Fertilization



b) Pollination

c) Fragmentation

d) Gamete formation

Q14. Which of the following is a natural method of vegetative propagation?
a) Cutting

b) Layering

c¢) Grafting

d) Bulb

Q15. What type of reproduction takes place in algae like Spirogyra?

a) Binary fission

b) Fragmentation

c¢) Budding

d) Grafting

Section B: Short Answer Questions (2 Marks)

Q16. Define asexual reproduction. How is it different from sexual reproduction?
Q17. Describe the process of spore formation in fungi.

Q18. How does vegetative propagation occur in Bryophyllum?

Q19. What is grafting, and how is it beneficial in plant reproduction?

Q20. Explain how artificial vegetative propagation is performed by cutting.

Q21. Give two advantages of asexual reproduction in plants.

Section C: Short Answer Questions (3 Marks)

Q22. Explain how vegetative propagation occurs in a potato.

Q23. Describe the process of budding in Hydra. How is it similar to budding in yeast?

Q24. What are the different types of asexual reproduction in plants? Give examples.

Q25. Why is vegetative propagation preferred for growing some types of plants? Mention two examples.

Q26. Describe fragmentation and give an example of an organism that reproduces using this method.

Section D: Long Answer Questions (5 Marks)
Q27. Explain the process of tissue culture and its importance in modern agriculture.
Q28. Describe the various methods of natural vegetative propagation in plants with examples.

Q29. Discuss the advantages and disadvantages of asexual reproduction in plants compared to sexual
reproduction.






